Maths – Wednesday 3rd March
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On the squared paper below, you need to draw the given arrays and then write all of the number sentences for each. One of the number sentences will be in to help you.
	2 x 10 =
	5 x 10

	1 x 10
	6 x 10
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Complete these number sentences:
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2) Look at the number shown in the place value grid.
This number is going to be divided by 10.

TH H T (0]

I think that the answer
will be 101.

Who is correct? Can you explain the mistake that one
of the children has made?
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Explain it!
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